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Select the most appropriate words from the table below to complete the passage.
Wite the letter corresponding to each word in the correct box.

dependent| B respects | € easy | D counterparts | € difference
tv both | G lack H develop | 1 expectancy | | prompting

Twould be [1 ]| to assume that white Bengal igers are albino, orevenan[2 | ]

group of animals, but they are in fact the same as other Bengal tigers,just with a slight

geneic difference. Their fur is white because they

the pigment that makes
most tigers orange in colour. For this to happen, [ | ] of the parents of a white tiger

must have the unusual recessive gene for white fur; this occurs naturally only once in every
10 000 births.

The st obvious [ 5 |__] between white and orange tigers s the colour of thei ur
and their strking blue eyes, but in many (6 |, white Bengal hpua-hwn-n
their orange| Honweer, it has bee suggestd ht i Gges v  horte
Hife [ ] than other tigers in capivity. This suggestion is ‘based on the- k@lm as
humans started breeding white tigers for profit-based purposes, genetic deects began
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